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A LESSON IN QUANTUM PHYSICS by LeXman

The crossword grid doubles as a sudoku, with the full solution below:

Across
T|I|DJE|S|RJG|A|N
1. The thirteenth or fifteenth side hustle? — IDES *
SIN|IEJA|T|G]D|R| I
5. Smiling once more — a becoming Romeo — AG[A](R)IN
A|G|RJI|NIDJS|E|T . . . .
| | e 0. Sometimes, they’re inclined to drop in appropriations —
N|ID|IJT|A|SJE|G|R GRA (DIE) NTS
G|R|AID|I1|EJIN]| T| s 9 Idleftan excellent woman—DI (R) + AN + E
Els|lTIr|c|INli|D|A] 10.Withoutfail, the Greek system produces contemptible
k 3 people — [FIRATS
R|T|SJG|D|IJA|N|E
p|a|N]s|E|T]|RrR]| 1 |G| Rown
. . . AL+
vielelnl e alx [ se 2. Sentient computer linked to 450 THz broadcast — Al + RED
- “ 3. Dragnet is recast — bigger stars — RED GIANTS *

4. Performed in Los Angeles — SANG (H)
7. Retrospective: Paintings in Sequence — TRA (R) + IN

8. Rock of Ages: it’s magical — I can’t help myself — GEAS *

© Copyright 2021 by Alex Kolker. Copying and distribution for solving purposes is permitted. All other rights reserved.



